EARAROBREBRT —5 XN—ZXBISH—F 20235128315 (B) 15mXH6H

LMt SR3% 161 75E BRI
[AE%) 1 7% :1,400,000  ~ 23&:560,000 33#%:350,000H . 43#&:210,000 5 & :140,000 /9§
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
. — SRAYEA 1:16. -2 7 - 1 4! BRE (K#H)
10410731 /—b 3 ah = 3 * (+519) K17
RiW—5—yvF B:rhvF/—hk TS
=_3p LR Y 3 | BARE 1:16.9 4-3 4.0 - 2 | 4% fJ\ﬁﬂ‘rIJ*‘ (V)
2071121 2—> 74 LR 56.0 (1 3/4) *3) #ER
RINVIATAwIDAUT— B:T—)UAXFU— }IZTJh77—A
b 3 | EHEER 1:17.0 6-6 39.9| - 7 M |BER (KFH)
3(8/13/ Y/ /FIRT ! 5.0 a7 O | @ 27-2revay
R:RyA—F)VIYIT B:FSFFL—2 Ve ]
» BREX : - - BRI (KH)
4lsl7 LEILS T—)L 4 3 A51% 1.(137).6 1-1 40.8 8 (45;) L
R:FIYYITSwo B:7ryz)LTIb— REFHUS
s o= —n~ )22 : - - TEKE (VW)
5B 3| 3IALESTY R EZ B CO I N X
FJURYZvT #B:UVEYRRSIY IRRBUS
5 STEOBIE : - - #L%Z(t#
6 5| AV TU—F 350 (12'11% A B (4:520) L[S
RidI=ILRYY T B:LyYII— m#77—A
~, EImZE : - - SaEN (KHF
7 6| ZIWT1UVT o3 R 1('11/82')2 2402 6 (4_?) Eﬁﬁ 9
RiE—=FNO-L B:FIFIVT FER Y R
— s 3 | BHPE 1:18.5 10-11 | 40.8| - 10 | 462 |BAFS ()
8/5/8 U—uxT A51.0 (1172 gy | (B BEWS
RIRIIATAvIIFUT— B:R—=)IbF—FR BiERS
=~ S 3 | fPEKE 1:18.6 11-10 | 40.9| — 9 476 | EBBAIR (KH)
EH 2 YYZUTFIF 56.0 (3/4) “2) +HAETF
R:TSvIIAR B:PIZVTI7E2L BHE XX
~ )T~ v 3| SHEM 1:18.7 9-8 N2 - 4 447 | ELRE— (KH)
10071111 /Y272 IT) 56.0 (1/2) () |EFEZ
KRRy d—9ILYI B:FIAANSNIATY A 8L
S ~,> t 3 | REF— 1:18.8 8-7 03] - 5 444 | KEZH OFH)
EH 4|¥T—YTN—X ! 54.0 1) W3 | ) €N TU—F—R - 1=F
RE=FNNhO=V B:A—ZAZNFFvr> BHHES
— ~))— o3 | AER 1:19.1 13-13 | 41.0| - 13 | 485 | FREEASE (KH)
12/814| Ab—LAYL—X A53.0 a 172 ) |
R:FARIU—bRFry bk B:ITATIAYLU—R #HET7—L
. = 5 : - - Fahe
13 o | 7OV T YTy 3 5:[—1_0¥ 1(71?:; 14-14 | 40.9 12 (4:53) gﬁi (R#H)
RIVYRITFZIVIR BRRYFITAITY i sh=E
< . BERA : - = BT (VHE)
ul1l11=v7728-0 s 3 §53_% 1.(27(;.6 2-4 43.8 14 (4_371) s
RibwHPO—)LR B:I9ALTITAT7R faLlsuE
@ 11— —BRIEfI
13—7F—
20—F—
30—7F— 7,1,10,12,3,13,5,4,11,8,2,6,14,9
43— — 7,10,12,1,3,13,4, (5,11) ,2,8,6,14,9
o ILRE
BB 10 210 JA R 10-12 170 & 6-7 250 3EE | 10-12-13 2,700
B B 10 110 10-13 1,040 (=] 6-7 460M 3EE | 10-12-13 6,850
12 1409 12-13 1,230 B E 10-12 280M
13 580M BB 10-12 520

ABIC DOV TRHUTEREERRODDZ. THIBLIETL




